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® 62.5kg

22 (kg) | A (F)
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5519 ~ 60" 6
60°" ~ 657" 3
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. la+ b+ Lc+ Zd = 360°
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(BOC = £0CD (312}

ACOD £ o] 3HAZgo| B2
£0CD = ,0DC

(0ODC = /AOB (597

ut2bA] /BOC = /AOB = q ©| B2
BC = AB = 7cm ©|t}.
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1) Dy & 3%, AB = £x AD; = 5x 9|22 BD, 9 Aol

4 3 1
—X— —X=—X
5 5 5
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2) Dy 9] A%, ADy = 3x, AB = Sx olB 2 BD, 9] 4ol
4 11
3x—5x23x

B 7} A3 AC & 225t Holzh 517 D o FEE a7
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3) D3 9] %

__ 4 - 4
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O ¥ BC 9] tfZt2 /B o[t
@AA+AB<180°

® A O] & ¥ AC o[t

@ AB>BC+ AC
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@® 100° @ 120° @ 240° @360° ® 480°
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Lla+ b+ Lo+ Ld+ Le+ Lf = Lx+ Lyl + Le+ Lf = 360°
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